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QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting questions :
There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions No. 1 and 5 are compulsory and out of the remaining, any THREE are to be
attempted choosing at least ONE question from each section,

The number of marks carried by a question/part is indicated against it

Answers must be written in the medium authorized i the Admission Certificate which must
be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space
provided. Mo marks will be given for answers written in a medium other than the authorized
one.

Word limit in questions, wherever specified, should be adhered to.

Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if atterpted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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1.(a)

1.(b)

1.{c)

1.(d)

L.(e)

2.(a)

T us ‘A’ SECTION ‘A’

Frfafas Wl # F weT =7 S0 S 150 Yer ¥ g
Answer the following in about 150 words each : 10x5=50

ST WA AT U Wl S gHeE | e e 6 9 § 7
Explain the concept and nature of accounting standards. Why are these needed ?
10

A e e ol § e o § 7 S Rdwant @ aeg i
aRETE |

What are the costs used in managerial decision-making ? Explain, in brief, their
characteristics. 10
s afufEn % werla, s awea sfad’ afs = o= oW ofiE o
‘Frardt' =fm @ fom war fim e 2 7

In what way does the liability of tax of a “not ordinarily resident” person differ from
that of a “resident” person under the Income Tax Act? 10

qE 35D T 35 F Fwid, @t @ g s & fou afEnt = daedo 6

wga wEEE w aEEE |
Explain the major provisions of compulsory tax audit for claiming deduction under

section 35 D and 35E. 10
A ST & e R ddg ¥ wume |

Explain, in brief, the functions of cost accounting. 10
w A e ffiz @ 31 W, 2017 W geewE Feafafaa @

HIDE 4 et 7
20,000 EfFd @ 20,00,000 | Tl 25,000
(whr @ 2 100) oy w 1,50,000

a0 ud 3,00,000

129% fstr 500,000 | FITE 80,000
w=i® 2,70,000

fesra = 120,000 | 0 G000

e : e W ARG 35,000
wrfis =g 20,000

R 3,00.000 | or o wfy @m 19,80,000
29,201,000 29,20,000
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(i) et = wfa 9 F95 @ 9 & fon W B | 5 g, v ufy e
10 3 10,000 IEd ST F wafea fe o &

(ii) fodtmeardl o argm R ame @ wrn R wfigh 3 € ) afff ¥ =
i, 129 femm =1 14% fed= # ofiafa < o s 2, 25,00,000 @8 99
=

(iii) *ERt @t 7w fawes fan smn & B ar @ 3 o g % f wEm A 50%
g g w s we grE w0 osfEd G (vl e 210) # oftafle =
| #2,00,000 F SER A9 wrET H g g 9l W fees g €

(iv) 97 SRl @1 st & o B v wem w fager gmr @ od sl
gat = "g F fm e ' T W 50,000 R SR (v 9 210) =
e =t &, Tar s ot e smET W 59 ® | 9w Tl oof afiee

&A1 |

(v) Hfr U5 wEA w0 F2,00,000 W FREE fE o @ we o aiad w0 o
¥2,10,000 =< fimn wmem & | wferw o1 B9 25,000 %7 wEwE fEnoome #

s e wigteat Sifae s gafE F g a1 g 99 0an
shifam |

The following is the Balance Sheet of XYZ Ltd. as at 31st March 2017,

Liabilities < Assets T
20,000 Equity shares 20,00,000 | Goodwill 25 000
of F100 each Land & Buildings 1,50,000

Plant & Machmmery 3,00, 000

Outstending Stock 2,770,000
debentures interest 1,200, R0} Debtars 60,000
Cash at Bank 35,000

Creditors 3,00, 000 Preliminary expenses 20,000
Profit & Loss Alc. 19,580,000

29.20,000 29.20,000
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2.(b)

The following is the scheme of reconstruction :

(i)

(ii)

(iii)

(iv)

(v)

Equity shares are reduced by %95 per share. They are, then, consolidated into
10,000 equity shares of ¥ 10 each.

Debenture holders agree to forego outstanding debenture interest. As a
compensation, 12% debentures are converted into 14% debentures, the amount

remaining ¥ 3,00,000. .

Creditors are given the option to either accept 50% of their claim in cash in full
settlement or to convert their claim into equity shares of 10 each. Creditors
for ¥2,00,000 opt for shares in satisfaction of their claims.

To make payment to creditors opting for cash payment and to augment working
capital, the company issues 50,000 equity shares of ¥10 cach at par, the entire
amount being payable along with applications. The issue was fully subscribed.

Land and Buildings are revalued at ¥2,00,000 whereas plant and machinery is
to be written down to 2,10,000. A provision amounting to 25,000 is to be
made for doubtful debts.

Pass necessary journal entries and prepare the company's balance sheet immediately
after the reconstruction. 20

fort enelt @1 gerg ol weT weRl & dpr w ol B @ | el a4
T AT = & was whEn § ame afy (Gew) W v

EET e fa afa &1 fsa 7=

© T (A) 2% 25 &4 wiy zerd

# (B) 4% 50 %@ ufy =

& (C) 2-5% 60 ¥ why zard

=Y T YEE 9 ¥

Taazm WHEH T WA A e T
AT 12,000 10,000 3,000
WoAE =51 16,000 5,000 4,900}
fmfuft = 2,000 3,400 3,500
i = 3.500 2,005 2,004
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T T W 13,560 1 ®FE A WEfEE ®9 # 4,000 THEAl 4E RO | WEE WEE
A e W OWeRR AT

WA FEaTEA
L} 3,850 TehTEAT
il 3,600 FHTIAT
=t 3,500 sHT5aT
W @TH = ue 98 i @ Hifen B fem s o 200 s oy wA g, W
Tt T g genfen w=is W T 2 | 15

The product of a company passes through three distinct processes to completion.
From past expericnce, it 15 ascertained that the normal wastage in each process is

as under :

Process Wastage Sale value of wastage
A 2% 25 paise per unit
B 4% 50 paise per unit
C 2:5% 60 paise per unit
The expenses were as follows : ¥F
Particulars Process A Process B Process C
Materials 12,000 10,000 9,000
Direct labour 16,000 5,000 4900
Manufacturing expenses 2,000 3,400 3,590
Other factory expenses 3,500 2,005 2,004

4,000 units were initially introduced in process A at a cost of ¥13,560. The output

of each process was as under :

Process Output
A 3,850 units
B 3,600 units
L 3,500 units

Prepare process accounts and also work out the sale price per unit of finished stock
so as to realize 20% profit on selling price.

5
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2.(c) fraffeelt 1 3w § smaes o= i R gEd ool foamm R owfe w9 F

grag £ 7

What are the provisions of inclusion of the income of a minor child and the wife of

an assessce in his total income 7 15
3(a) A (40 o) it fafor o 2018-19 ¥ T w-dw s A woEn S

T

s | THaw #m 8,00,000

OO o BETEW § ddwEE e @

(af fem w=e@ym F wen & 9m) 6,00,000

Teffag WY F RO § S e W

(Z2adia & =15 WU

(TR W 72,50,000 F 20% W F o AG wN e ¥ A F

¥6,00,000 &1 10% #1 & #) 2,50,000

v g s, fome 98 weE B, ¥ W 3@ H A9 82,000

e I @ Siw (30% & = e @ FEe) 70,000

% &t ol S o=

g R 1,17,000

— AEnfeE gF = A 1,450

- :ﬂﬁ’:lﬁ’f[ gﬁ% # Gk Ei{m

— arfery sifaEnfes oA & AW 70,000

w74 67 =fiy =% o d Afeww e w o =m

(wam W anfia, feeam =fim) 8,000

atfent gt % ween W wnaw @M # e s wg feo M
o1 1 A (o us sty-ghe autd derm @ fn s @) 6,90,000

I W W H YA 76,000
sofer afigfra aufd dem = = 5,000
Frerfenr w0 2014-15 @ Fdftm vF == sgEaE @ swaifa el 26,000
AT 10, 2017 0w B 8@ 21,15,000 § T 96w 9A

(v & AR = F1,70,000 #) 1,15,000
i wfeasy fafty e & 9 o9 o uE ot I 5 W W 1,63,000
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3.(b)

Compute the taxable income of X (40 vyears) for the assessment year 2018-19.

Ed
Net income from trading business 8.00,000
Long-term capital gain on transfer of debentures
(if computed without indexation) &, 00, (00
Long-term capital gain on transfer of listed debentures
(computed after indexation) (X wants to pay tax at the rate of
20% of ¥2,50,000 and not at the rate of 10% of ¥6,00,000) 2.50,000
Share of income from HUF in which he is a member 82,000
Winning from horse races (net of TDS of 30 per cent) 0,000
Interest on bank fixed deposits :
— Deposit in his own name 1,17.000
— In the name of minor son 1,450
— In the name of minor daughter 8,000
— In the name of major unmarried daughter 70,000
Expenditure incurred for medical treatment of his 67 years
old elder brother (dependent of X, being a person with disability) 8,000
Repayment of loan taken for part-time studies of
major daughter for graduate course in management
(loan is taken from a notified charitable institute) 6.,90,000
Payment of interest from the aforesaid loan 76,000
Donation to the aforesaid notified charitable institute 5,000
Brought forward loss of a discontinued business
pertaining to the assessment year 2014-15 26,000
Purchase of a work of art on November 10, 2017 from a friend
for 21,15,000 {market value is, however, ¥1,70,000) 1,15,000
Deposit in Public Provident Fund account and purchase of
NSC IX issue 1,63,000

25

U FAL & wEAe # A famdl @t saers oo Forsn wedt F Fator & aem
o T o 2 | = R SIWIET % AR S ARy H WE e & wiE-
FH A ey £ 7

State the points to be considered while determining divisible profits in case of a
company. What are the auditor’s duties m regard to payment of dividends by a

company 7 15
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3c)  AwE ware R @ defim wdm S aEE F oW wEdE S owed |

quATE |

Explain, in brief, the main provisions of Indian Accounting Standards regarding

cash flow staterment. 10
A(a) 3197, 2016 F gy we fafiee & frafafer 9w 2
@ (3fE) 4 w1 (#fe) ¥
A T wEA 30,72,000 | 31 9 (4,00,000 40,00,000
e TE WA 33,00,000 | 9T F10 WeOF)
Iih 7.50,000 | 12% R99H 30,00,000
fafirm TER 8,70,000 | =mu-grfa @ 2,62,500
TEfFe 2,50,000 | 3 fa= 3,70,000
4w T 4,06,500 | 9ER 4,00,000
AT A 75,000 | Tawa 41,50,000
yad A AT 392,500 | wvg wfafy 2.50,000
=R 18,50,000 | #siem =W 35,000
wrfias =93 50,000 | (01.04.2015 Ft wELw)
AL AT 9,79,800
AT w4 68,350
T 202,250
= 21,100
Woxl TRUMGH W = 1,80,000
1,24,67,500 1,24,67,500

Froafafizs wfafer smafar sy -
(a) NE UE W O 15% JE FE

(b) wrfits =l § €5,000 | OH2 W T

(c) =md ad @ fee=n =

HTeh

(d) Fgrd & fom wifes solt we 5% T W WIEHTH
(e) ¥ = =% forg s50% & W W WEEA W

() 31 7, 2016 FF w=iF #9,50,000 =0

(g) @ard efrgfd ¥ 225,000 % ww T w0 weAt fEe aw w R

o & gfem A aEE |
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4.(b)

The following are the balances of Bhushan Co. Ltd. as on 31st March, 2016 :

| Debit N Credit J
Land & Buildings 30,72.000 | Share Capital 40,000,000
Plant & Machinery 33,00,000 | 4,00,000 shares @ 10 each
Stock 7,50,000 12% Debentures 30,00,000
Sundry Debtors 8,770,000 P/L Ale. 2,62.500
Goodwill 2.50,000 | Bill Payable 3,70.000
Cash at Bank 406,500 | Creditors 4,00,000
Calls in arrear 75,000 | Sales 41,50,000
Interim Dividend paid 3.92.500 | General reserve 2.50,000
Purchases 18,50,000 | Bad Debt 35,000
Preliminary Expenses 50,000 | (Provision on 01.04.2015)

Wages Q.79 300
General Expenses 68,350
Salaries 2,02,250
Bad debts 21,100
Debentures interest paid 1,580,000
1,24 67,500 1,24,67,500

The following additional information 15 available :
{a) Depreciate Plant & Machmery by 15%
(by Write off 5,000 from Preliminary Expenses

(c) Half-year’s Debenture interest due

(d) Credit 5% provision on Debtors for doubtful debts
(e} Provide for Income Tax @ 50%
(f) Stock on 3Ist March 2016 was 950,000
(g) A claim of ¥25,000 for workmen's compensation is being disputed by the

company.

Prepare Final Accounts of the company.

20

“Fai i FmdE geA- o afimt @ aaede el ) wwensn | Fread
st @r-foramr afemfaat & =i faigs Fif |

“The audit of banks is the audit of balance sheet and advances.” Explain. Distinguish
between performing and non-performing assets.

9

EG

20
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4.(c)

S.(a)

S.(b}

5.(c)

5.(d)

Sde)

Yo A Frafen @ = # avEl & Faew F fao o warE e e |
wdq oter e s 817 W owma ¥ ey A, AE 9va Fale § s @

GHATEY |

“Standard costing is umiversally accepted as an effective mstrument for controlling
costs in mndustries.” In the light of this statement, explan the objectives of standard

costing. 10
gus ‘B’ SECTION *B°
Frmfafag wwt # @ weds =1 I9¢ w9 150 =T # St

Answer the following in about 150 words each : 10x5=50

wig faefrn Fnfgl, sfwfE (Red), Siftn o =m o & &9 g @
AT g fifang |

Critically examine the relationship between the key financial decisions, return, risk
and market value. 10

Yo A, T, EreE, e o st srad aaee (sAeeedl o A
ST ) AR WS W AR BT | A4l W 9TEE € | Wedss | o as |
HARTZE U9 FHET O] o RV & FEAEd |

“ABC Analysis, FSN Analysis and Inventory Turnover Ratio are the most commonly
used tools of mventory management.” Explain each tool in brief and state the

reasons for their popularity. 1

frar Fofas werm 3 Siflaw = wnfae &30 & Foafafe ol & faesn oo .
sitfam gurnfia gz fafy va ffvsaa e fafl )

Discuss the following ways of incorporating risk in the mvestment decision making
process ; The Risk-Adjusted Discounmt Method and The Certainty Equivalent
Method, 10
"ot areR) o e T e & v, et ot o feEt 6 wefi
oA AT BT A SR T, HYE o W UE H9aA G i W o SATHE 9T
femn = wepam & 1 Atta # e w1 gy e if

“Financial markets can be classified based on types of financial claims, maturity of
claims, claims representing new 1ssues or ouistanding issues, immg of dehivery and
nature of its organisation structure.” Summarise the classification in brief. i

=0 it #, ‘e & 0 waw s s = we St ) o oaes E
wiftas ww & Tt & foo Geftm g - et e form omat € 7

Explain the rating methodology used by CRISIL in debt rating. What symbols are
used by CRISIL for determuning the risk level of a debt instrument ? i

EGT-P-COMA 10



6.(a)

6.(b)

w41, fafing feafifiaa saw Afa sl w fEr = @ 2

e 5
(A) Fu faga (2 @@ #) 10-00 9600 12:00
(B) Fuw s=fy (Rl #) 30 45 60
(C) g = (fasra =1 wfe) 5 4 6
(D) SuR WurE # @A (¥ @@ A) 040 | 025 | 050
(E) aftma dwe wmfy (Rl 4) 45 50) 70

T fag W 40% IS W S R ST aWEl § | SEe W W saEws
qitmfEy = (i s fed) wftad 200 2w o o =9d & 365 fim & 1 s %1 wgmA
2 fr st & foo oo SaR-wafy e o 3w 7

ABC Ltd. is considering the following credit policy alternatives :

Particulars EI’:;TEE th::" Df “;'“
(A) Credit Sales (¥ in lakhs) 10000 9.60 12-00
(B) Credit Period {days) 30 45 6l
(C) Bad Debt (% of sales) 5 4 3
(D) Cost of Credit Administration (¥ in lakhs) 0-40 0-25 0-50
(E) Average Collection Period (days) 45 S0 70

The company expects to achieve a contribution of 40% on sales. It has the required
rate of return on investment of 20% p.a. Assume 365 days in a year. You are required
to suggest which credit period option is more suitable to the company.

‘fipfira wrattem’ 6t Frafafm PR o= 2

—_srﬁr?mm
— fraeii o ofmfE =

T 400

— fnfEt g aifen ofwfE 5 (8 ais fed)
af? faraz s 40 whas ? 50 wiwe 7 60 Wl @ 7 A qwet wiEe F AFER

wfer w7 g eni 7

18%

15%

20
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6.(c)

T.a)

The following information is available for KRISHIV Corporation :

— Earning per share F4-00
— Rate of return on investments 18 per cent
— Rate of return required by shareholders 15 per cent

What will be the price per share as per the Walter Model if the payout ratio is
4() per cent ? 50 per cent 7 60 per cent 7 15

“fielt wt Ft wilta dvem 4 arm (s aE FRe ek wh @
ot v i PR ok R Aifvdt & s g £ 17 g6 A wwemd |

“The Weighted Average Cost of Capital (WACC) of a firm, depends on many factors
which are beyond the control on the investment and financing policies of a firm.”

Explamn in brief, 15

e fafis R Aar geng g AEeEE ged § ¥ uw & fafmin s e
AT ATRAt & | 6w %) e ® - uw, #99 F9EE gl § 5 E
T, @ EwerE s s
et adar et & whed 6000 afvd & s = w125 why gfe o E
smafed et &t g el d R

afe wew = mwemE Ghen 2 2 @ o fu aees g B oaee
F10 @7 R UF ufE 9 % UeEr SEH AGATHG w9 W 2 W@ T |
stfifes warft wma (gE = Bigew) SEEE: dga] 71 W wiy ad g6l | weEs
Hew & fmm w qfEdasie ama 230 i gie 2w 35 whea R E
sl 2 | =0 wigeer & forn it @ 15 wiawm ¥ | e F st i
ST 9i9 99 89 7,500 g wfr = % | wDv faft & smm W gm oW W=
wrafiE 5% 25 wiysm 2

Tt i wee S owmet @l angfieat § s e wew 9ifen s wmE .
fepmrtor wriw wer anfew | T s @ gne firg B afe wfiEd @t @ fad e000
afrdl &t srEegEa B, 498 |

Tt 1 2 3 4 5
F1HT 15% T qAHE T | 0870 | 0756 | 0658 | 0572 | 0-497
T1 T =1 FduE g 0-870 1-626 | 2283 | 2855 | 3352

15% 9%
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Tdb)

MNamya Ltd, wants to prepare the feasibility of manufacturing one of the components
needed for its finished product. It has two options of purchasing from its present
supplier or to manufacture it in-house.

Its present supplier has shown the willingness to provide at 125 per unit for the
company's requirement of 6000 units per year.

If the component is manufactured in-house, it requires equipments costing
210 lakh and is expected to have salvage value of ¥2 lakh after the expiry of five
years. Additional fixed cost (excluding depreciation) are estimated to increase by
%1 lakh per year. The variable cost of manufacturing each component will be
730 per unit. The company is subject to a 35 per cent tax rate. Its cost of capital

is 15 per cent for this project. The company’s projected annual needs is at 7500 umts
per year for 5 years. The tax relevant rate of depreciation is 25 per cent based on

WDV method.

Advise the company, whether it should continue buying from outside supplier or
start its own manufacturing. Will your answer be different if the requirement of the

company is only 6000 units per year ?

Year I 2 3 4 5
The present value of 0-870 0-756 0658 0572 0-497
F1 at 15%
The present value of an | 0-870 1-626 2-283 2-855 3:352
Annuity of 1 at 15%
20

‘wr feqgeaton fafiee & 4 Sme 4R $5,00000 ®, (sifeR w0 F10)
foFaR AT $ e & 9a e F fe, S $3,00,000 ST ARt @)
fifirt &t == & fm, we Frafafos ar SeFw et w e s @ 2

qra & ¢ Y i S 9 A W R

Ao @ ;¥ o SR W 22 e et see 810 wiwe wied s g w®
AT |

dmer gt Al T3, d A 10% vl e W |

AT . F1 AT S @ Ud T2 9 8% WieEd wrEn o st e % e

fereTe TiereT e T WET R 2 1,50,000 3 WIE 4 R IR S § | SR
35% &% T A0 & | IOTH AT g S |
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T.dc)

8.(a)

Mayur Manufacturing Ltd. has equity share capital of ¥5,00,000 (face value
F10). To meet the requirement of expansion plan, the company wishes to raise
#3,00,000. The company is considering the following four alternative sources 10
raise the funds :

Plan A:  To have full money from the equity shares.

Plan B :  To raise 1 lakh from equity and ¥2 lakhs by borrowing from financial
institution @ 10% rate of interest per annum,

Plan C :  To raise full money of ¥3 lakhs from bank at 10% rate of mterest per
AL

Plan D : %1 lakh in equity and ¥2 lakhs issue of preference shares at 8% per
annum dividend.

The company is expected to have eamings of ¥1,50,000 after the expansion

programme. The tax tate applicable to company is 35%. Suggest the suitable plan.
15

frefr Fracoit 3 Fadvan 3 se Ret o A PrefrRen et @ Rt o
HearaA i
(i) e auE (i G )
(il) =ATH HLEH HIE
(iii) aitea wae F=y
(iv) fafmfaa o=t = ofER
(v) wod — #A@ AT
Define and evaluate the following ratios used for analysis of financial statements :
{1) Acid-test ratio
(i1) Interest coverage ratio
(i) Average collection period
(iv) Return on capital employed
(v) Price — eaming ratio 15

o & e ¥ ffm s frdfon & m-aw @ fafie anae € € 7 afilea
w01, aftmfea wd dafm w6 e d fen ven ffa o @ A e 6
i

What are the different bases for establishing the exchange ratio in case of a merger 7

How the boundaries for exchange rate is determined from the view pomt of
acquiring, acquired and combined firm 7 20
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B.(b)

8.(c)

R # g g sae oo B e R
Discuss the state of the venture capital industry in India. 15
wrét v st fer el R R e Gt fem @ e St @ fe g

it w1 sga dif | Feefafaa amsl =0 e @ g, ol uE s
wegd w0k, auensy fe anfdie we fem R w R ot wE il @

gary fafie v ww fafiiee v wifem Aoft 8 € | o fofiee & o o Gt wd
2 | am fafer ¥ am 26, wo @ RS O 2 ) s faaw Frefodaa €

o

faram ww fefies wam Tafies
Tima ofEma am (%) 10,00,000 10,00,000
W A (F) — 3,000,004
FO JHEA T — 10%
it deflgam 32 14% 18%
e el A 14% 14-52%

e P 3 am fafins 3 1,00,000 997 F HFE G e oa @ o ) 9 T
WEfaew ® FgATEn 7
State the assumptions made in Modigliani and Miller Proposition-1 that the capital

structure is independent of capital mix. Explain with an example that how arbitrage
process justifies the theory, using the following data.

Shyam Ltd. and Ram Ltd. belong to same risk class. Ram Ltd. has no debt capital.
Shyam Ltd. has both debt and equity capital. Other details are as under :

Particulars Ram Lud. Shyam Ltd.
Net Operating Income () 10,00,000 10,00,000
Debt Interest (¥) - 3,00,000
Debt Capitalisation Rate — 10%
Equity Capitalisation Rate 14% 18%
Average Cost of Capital 14% 14-52%

One investor is holding ¥1,00,000 worth of equity shares of Ram Limited. What
arbitrage will he resort to 7 15
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